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Q.6 Boys are often gifted cars and mechanical blocks while girls are gifted dolls and drawing
supplies to play with. This inappropriate practice illustrates-

Options 1. gender equity.
2. gender empowernment.
3. gender bias.
4. gender constancy.
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Q.19 Which of these factor plays an important role in cognitive development according to Lev
Vygotsky?

Options 1. Organization
2. Language
3. Maturation
4. Equilibration
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Section : Language Il




Comprehension:

Read the passage given below and answer the questions that
follow by choosing the correct/most appropriate options:

1. Scientists have for the first time quantified the amount of
plastic waste dumped into our oceans. About eight million
tons of plastic waste was dumped into the world’s oceans in
2010 and researches warn that the cumulative amount could
increase more than 10-fold in the next decade unless the
international community improves its waste management
practices.

2. Jena Jambeck from the University of Georgia in Athens
along with scientists from the US and Australia studied the
sources of ocean-bound plastic around the world and
developed models to estimate their annual contributions.
They suggest that coastal countries generated close to 275
million tons of plastic in 2010 and that 4.8 to 12.7 million of
that plastic made its way to the oceans.

3. “Our estimate of 8 million metric tons going into the oceans
is equivalent to five grocery bags filled with plastic for every
foot of coastline in the world,” said Jambeck. “This annual
input increases each year, so our estimate for 2015 is about
9.1 million metric tons.”

4. “In 2025, the annual input would be about twice the 2010
input or 10 bags full of plastic per foot of coastline,” she
continued “So the cumulative input by 2025 would equal 155
million metric tons.”

SubQuestion No : 1

@1 Which poses the biggest threat to our oceans?

1. Pesticides used in agriculture flowing into the oceans.
2. Qil spills from water treatment plants
3. Affluents from factories and industrial plants
4. Plastic waste making its way to the oceans.
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Comprehension:

Read the passage given below and answer the questions that
follow by choosing the correct/most appropriate options:

1. Scientists have for the first time quantified the amount of

plastic waste dumped into our oceans. About eight million
tons of plastic waste was dumped into the world’s oceans in
2010 and researches warn that the cumulative amount could
increase more than 10-fold in the next decade unless the
international community improves its waste management
practices.

2. Jena Jambeck from the University of Georgia in Athens

along with scientists from the US and Australia studied the
sources of ocean-bound plastic around the world and
developed models to estimate their annual contributions.
They suggest that coastal countries generated close to 275
million tons of plastic in 2010 and that 4.8 to 12.7 million of
that plastic made its way to the oceans.

3. “Our estimate of 8 million metric tons going into the oceans

is equivalent to five grocery bags filled with plastic for every
foot of coastline in the world,” said Jambeck. “This annual
input increases each year, so our estimate for 2015 is about
9.1 million metric tons.”

4. “In 2025, the annual input would be about twice the 2010

input or 10 bags full of plastic per foot of coastline,” she
continued “So the cumulative input by 2025 would equal 155
million metric tons.”

SubQuestion No : 2

Q.2  Which of the following words is the most opposite in meaning to the word , ‘improves’ as used in para 4 of
the passage?

1. disturbs
2. declines
3. worsens
4. decreases

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ

Status : Answered

Chosen Option : 4




Comprehension:

Read the passage given below and answer the questions that
follow by choosing the correct/most appropriate options:

1. Scientists have for the first time quantified the amount of
plastic waste dumped into our oceans. About eight million
tons of plastic waste was dumped into the world’s oceans in
2010 and researches warn that the cumulative amount could
increase more than 10-fold in the next decade unless the
international community improves its waste management
practices.

2. Jena Jambeck from the University of Georgia in Athens
along with scientists from the US and Australia studied the
sources of ocean-bound plastic around the world and
developed models to estimate their annual contributions.
They suggest that coastal countries generated close to 275
million tons of plastic in 2010 and that 4.8 to 12.7 million of
that plastic made its way to the oceans.

3. “Our estimate of 8 million metric tons going into the oceans
is equivalent to five grocery bags filled with plastic for every
foot of coastline in the world,” said Jambeck. “This annual
input increases each year, so our estimate for 2015 is about
9.1 million metric tons.”

4. “In 2025, the annual input would be about twice the 2010
input or 10 bags full of plastic per foot of coastline,” she
continued “So the cumulative input by 2025 would equal 155
million metric tons.”

SubQuestion No : 3
Q.3 Which part of speech is the underlines word in the following sentence?

There is an immediate need to improve our waste management practices

1. Adverb
2. Noun
3. Conjunction
4. Adjective
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Comprehension:

Read the passage given below and answer the questions that
follow by choosing the correct/most appropriate options:

1. Scientists have for the first time quantified the amount of
plastic waste dumped into our oceans. About eight million
tons of plastic waste was dumped into the world’s oceans in
2010 and researches warn that the cumulative amount could
increase more than 10-fold in the next decade unless the
international community improves its waste management
practices.

2. Jena Jambeck from the University of Georgia in Athens
along with scientists from the US and Australia studied the
sources of ocean-bound plastic around the world and
developed models to estimate their annual contributions.
They suggest that coastal countries generated close to 275
million tons of plastic in 2010 and that 4.8 to 12.7 million of
that plastic made its way to the oceans.

3. “Our estimate of 8 million metric tons going into the oceans
is equivalent to five grocery bags filled with plastic for every
foot of coastline in the world,” said Jambeck. “This annual
input increases each year, so our estimate for 2015 is about
9.1 million metric tons.”

4. “In 2025, the annual input would be about twice the 2010
input or 10 bags full of plastic per foot of coastline,” she
continued “So the cumulative input by 2025 would equal 155
million metric tons.”

SubQuestion No : 4
Q.4  Which of the following words is similar in meaning to the word, ‘cumulative’ as used in para 1 of the
passage?

1. threading
2. increasing
3. deteriorating
4. prohibiting

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2




Comprehension:

Read the passage given below and answer the questions that
follow by choosing the correct/most appropriate options:

1. Scientists have for the first time quantified the amount of
plastic waste dumped into our oceans. About eight million
tons of plastic waste was dumped into the world’s oceans in
2010 and researches warn that the cumulative amount could
increase more than 10-fold in the next decade unless the
international community improves its waste management
practices.

2. Jena Jambeck from the University of Georgia in Athens
along with scientists from the US and Australia studied the
sources of ocean-bound plastic around the world and
developed models to estimate their annual contributions.
They suggest that coastal countries generated close to 275
million tons of plastic in 2010 and that 4.8 to 12.7 million of
that plastic made its way to the oceans.

3. “Our estimate of 8 million metric tons going into the oceans
is equivalent to five grocery bags filled with plastic for every
foot of coastline in the world,” said Jambeck. “This annual
input increases each year, so our estimate for 2015 is about
9.1 million metric tons.”

4. “In 2025, the annual input would be about twice the 2010
input or 10 bags full of plastic per foot of coastline,” she
continued “So the cumulative input by 2025 would equal 155
million metric tons.”

SubQuestion No : 5

Q.5 Read the following statements :

A. Statistics show that plastic waste management will be the biggest challenge before the world community
in the coming years.
B. Scientist from the US and Australia have formuled plans to effectively control plastic waste.

1. Alis false and B is true.
2. Bis false and A is true.
3. Both A and B are false.
4. Both Aand B are true.

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ

Status : Answered

Chosen Option : 1




Comprehension:

Read the passage given below and answer the questions that
follow by choosing the correct/most appropriate options:

1. Scientists have for the first time quantified the amount of
plastic waste dumped into our oceans. About eight million
tons of plastic waste was dumped into the world’s oceans in
2010 and researches warn that the cumulative amount could
increase more than 10-fold in the next decade unless the
international community improves its waste management
practices.

2. Jena Jambeck from the University of Georgia in Athens
along with scientists from the US and Australia studied the
sources of ocean-bound plastic around the world and
developed models to estimate their annual contributions.
They suggest that coastal countries generated close to 275
million tons of plastic in 2010 and that 4.8 to 12.7 million of
that plastic made its way to the oceans.

3. “Our estimate of 8 million metric tons going into the oceans
is equivalent to five grocery bags filled with plastic for every
foot of coastline in the world,” said Jambeck. “This annual
input increases each year, so our estimate for 2015 is about
9.1 million metric tons.”

4. “In 2025, the annual input would be about twice the 2010
input or 10 bags full of plastic per foot of coastline,” she
continued “So the cumulative input by 2025 would equal 155
million metric tons.”

SubQuestion No : 6

Q.6  Which of the following statements is not true?
The coastal countries are the biggest contributors to ocean pollution because they

1. did not implement the guidelines issued by W.H.O.
2. didn't bother to set up adequate number of treatment plants.
3. dumped millions metric tons of plastic waste into the oceans.
4. did not take any action against polluting industries.

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3




Comprehension:

Read the passage given below and answer the questions that
follow by choosing the correct/most appropriate options:

1. Scientists have for the first time quantified the amount of
plastic waste dumped into our oceans. About eight million
tons of plastic waste was dumped into the world’s oceans in
2010 and researches warn that the cumulative amount could
increase more than 10-fold in the next decade unless the
international community improves its waste management
practices.

2. Jena Jambeck from the University of Georgia in Athens
along with scientists from the US and Australia studied the
sources of ocean-bound plastic around the world and
developed models to estimate their annual contributions.
They suggest that coastal countries generated close to 275
million tons of plastic in 2010 and that 4.8 to 12.7 million of
that plastic made its way to the oceans.

3. “Our estimate of 8 million metric tons going into the oceans
is equivalent to five grocery bags filled with plastic for every
foot of coastline in the world,” said Jambeck. “This annual
input increases each year, so our estimate for 2015 is about
9.1 million metric tons.”

4. “In 2025, the annual input would be about twice the 2010
input or 10 bags full of plastic per foot of coastline,” she
continued “So the cumulative input by 2025 would equal 155
million metric tons.”

SubQuestion No : 7

Q7 Which part of the following sentence contains an error?
It is true that Shakespeare is greater than any other poets
(a) (b) (c) (d)
1. (b)
2. (c)
3. (d)
4. (a)
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ

Status : Answered

Chosen Option : 4




Comprehension:

Read the passage given below and answer the questions that
follow by choosing the correct/most appropriate options:

1. Scientists have for the first time quantified the amount of
plastic waste dumped into our oceans. About eight million
tons of plastic waste was dumped into the world’s oceans in
2010 and researches warn that the cumulative amount could
increase more than 10-fold in the next decade unless the
international community improves its waste management
practices.

2. Jena Jambeck from the University of Georgia in Athens
along with scientists from the US and Australia studied the
sources of ocean-bound plastic around the world and
developed models to estimate their annual contributions.
They suggest that coastal countries generated close to 275
million tons of plastic in 2010 and that 4.8 to 12.7 million of
that plastic made its way to the oceans.

3. “Our estimate of 8 million metric tons going into the oceans
is equivalent to five grocery bags filled with plastic for every
foot of coastline in the world,” said Jambeck. “This annual
input increases each year, so our estimate for 2015 is about
9.1 million metric tons.”

4. “In 2025, the annual input would be about twice the 2010
input or 10 bags full of plastic per foot of coastline,” she
continued “So the cumulative input by 2025 would equal 155
million metric tons.”

SubQuestion No : 8
Q8 The steady degradation of our oceans can be effectively dealt with by

1. improving waste management practices.
2. substantially reducing use of plastic.
3. imposing heavy fines on defaulters.
4. formulating more stringent laws.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ

Status : Answered

Chosen Option : 2




Comprehension:

Read the following passage and answer the questions that follow
by choosing the correct/most appropriate options:

1. Each one of us is a mass of imperfections, and to be able to
recognize and live with our imperfections, our basic natures,
defects of genes and birth-hereditary flaws-makes for an
easier transit on life’s journey.

2. | am always a little wary of saints and godmen, preachers
and teachers, who are ready with solutions for all our
problems. For one thing, they talk too much. When | was at
school, | mastered the art of sleeping (without appearing to
sleep) through a long speech or lecture by the principal or
visiting dignitary, and | must confess to doing the same thing
today. The trick is to sleep with your eyes half closed; this
gives the impression of concentrating very hard on what is
being said, even though you might well be roaming happily
in dreamland.

3. In our imperfect world there is far too much talk and not
enough thought. The TV channels are awash with TV gurus
telling us how to live, and they do so at great length. This
verbal diarrhoea is infectious and appears to affect
newspersons and TV anchors who are prone to lecturing
and bullying the guests on their shows. Too many know-alls.
A philosophy for living? You won't find it on your TV sets.
You will learn more from a cab driver or street vendor.

SubQuestion No : 9
Q9 Which part of the following sentence contains an error?

He asked his friend  why had he been absent fromschool  yesterday
(a) (b) (c) (d)

(b)

(a)

1.
2
3. (€)
4. (d)
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option: 3




Comprehension:

Read the following passage and answer the questions that follow
by choosing the correct/most appropriate options:

1. Each one of us is a mass of imperfections, and to be able to
recognize and live with our imperfections, our basic natures,
defects of genes and birth-hereditary flaws-makes for an
easier transit on life’s journey.

2. | am always a little wary of saints and godmen, preachers
and teachers, who are ready with solutions for all our
problems. For one thing, they talk too much. When | was at
school, | mastered the art of sleeping (without appearing to
sleep) through a long speech or lecture by the principal or
visiting dignitary, and | must confess to doing the same thing
today. The trick is to sleep with your eyes half closed; this
gives the impression of concentrating very hard on what is
being said, even though you might well be roaming happily
in dreamland.

3. In our imperfect world there is far too much talk and not
enough thought. The TV channels are awash with TV gurus
telling us how to live, and they do so at great length. This
verbal diarrhoea is infectious and appears to affect
newspersons and TV anchors who are prone to lecturing
and bullying the guests on their shows. Too many know-alls.
A philosophy for living? You won't find it on your TV sets.
You will learn more from a cab driver or street vendor.

SubQuestion No : 10
Q10 What prompts the author to label our world as imperfect?

1. Lack of tolerance.

2. Too much talk and too little work.

3. Too much talk and not enocugh thought.
4. Lack of sincerity and integrity.

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3




Comprehension:

Read the following passage and answer the questions that follow
by choosing the correct/most appropriate options:

1. Each one of us is a mass of imperfections, and to be able to
recognize and live with our imperfections, our basic natures,
defects of genes and birth-hereditary flaws-makes for an
easier transit on life’s journey.

2. | am always a little wary of saints and godmen, preachers
and teachers, who are ready with solutions for all our
problems. For one thing, they talk too much. When | was at
school, | mastered the art of sleeping (without appearing to
sleep) through a long speech or lecture by the principal or
visiting dignitary, and | must confess to doing the same thing
today. The trick is to sleep with your eyes half closed; this
gives the impression of concentrating very hard on what is
being said, even though you might well be roaming happily
in dreamland.

3. In our imperfect world there is far too much talk and not
enough thought. The TV channels are awash with TV gurus
telling us how to live, and they do so at great length. This
verbal diarrhoea is infectious and appears to affect
newspersons and TV anchors who are prone to lecturing
and bullying the guests on their shows. Too many know-alls.
A philosophy for living? You won't find it on your TV sets.
You will learn more from a cab driver or street vendor.

SubQuestion No : 11

Q.11 Which of the following words is similar in meaning to the word, ‘flaws’ as used in para 1 of the passage?

1. damages

2. faults

3. abnormalities
4. handicaps

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3




Comprehension:

Read the following passage and answer the questions that follow
by choosing the correct/most appropriate options:

1. Each one of us is a mass of imperfections, and to be able to
recognize and live with our imperfections, our basic natures,
defects of genes and birth-hereditary flaws-makes for an
easier transit on life’s journey.

2. | am always a little wary of saints and godmen, preachers
and teachers, who are ready with solutions for all our
problems. For one thing, they talk too much. When | was at
school, | mastered the art of sleeping (without appearing to
sleep) through a long speech or lecture by the principal or
visiting dignitary, and | must confess to doing the same thing
today. The trick is to sleep with your eyes half closed; this
gives the impression of concentrating very hard on what is
being said, even though you might well be roaming happily
in dreamland.

3. In our imperfect world there is far too much talk and not
enough thought. The TV channels are awash with TV gurus
telling us how to live, and they do so at great length. This
verbal diarrhoea is infectious and appears to affect
newspersons and TV anchors who are prone to lecturing
and bullying the guests on their shows. Too many know-alls.
A philosophy for living? You won't find it on your TV sets.
You will learn more from a cab driver or street vendor.

SubQuestion No : 12
Q12 The author's attitude to TV Gurus and TV anchors is

1. hostile
2. condemnatory
3. unfriendly
4. insulting
Options 1. 1
2.2

3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2




Comprehension:

Read the following passage and answer the questions that follow
by choosing the correct/most appropriate options:

1. Each one of us is a mass of imperfections, and to be able to
recognize and live with our imperfections, our basic natures,
defects of genes and birth-hereditary flaws-makes for an
easier transit on life’s journey.

2. | am always a little wary of saints and godmen, preachers
and teachers, who are ready with solutions for all our
problems. For one thing, they talk too much. When | was at
school, | mastered the art of sleeping (without appearing to
sleep) through a long speech or lecture by the principal or
visiting dignitary, and | must confess to doing the same thing
today. The trick is to sleep with your eyes half closed; this
gives the impression of concentrating very hard on what is
being said, even though you might well be roaming happily
in dreamland.

3. In our imperfect world there is far too much talk and not
enough thought. The TV channels are awash with TV gurus
telling us how to live, and they do so at great length. This
verbal diarrhoea is infectious and appears to affect
newspersons and TV anchors who are prone to lecturing
and bullying the guests on their shows. Too many know-alls.
A philosophy for living? You won't find it on your TV sets.
You will learn more from a cab driver or street vendor.

SubQuestion No : 13

213 What makes life’s journey smooth and easy?
1. Qur ability to develop a tolerant attitude to others.
2. Being aware of our faults and living with them.
3. Being kind and empathetic to people.
4. QOur positive attitude to people and situation.
Options 1. 1
2.2

3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2




Comprehension:

Read the following passage and answer the questions that follow
by choosing the correct/most appropriate options:

1. Each one of us is a mass of imperfections, and to be able to
recognize and live with our imperfections, our basic natures,
defects of genes and birth-hereditary flaws-makes for an
easier transit on life’s journey.

2. | am always a little wary of saints and godmen, preachers
and teachers, who are ready with solutions for all our
problems. For one thing, they talk too much. When | was at
school, | mastered the art of sleeping (without appearing to
sleep) through a long speech or lecture by the principal or
visiting dignitary, and | must confess to doing the same thing
today. The trick is to sleep with your eyes half closed; this
gives the impression of concentrating very hard on what is
being said, even though you might well be roaming happily
in dreamland.

3. In our imperfect world there is far too much talk and not
enough thought. The TV channels are awash with TV gurus
telling us how to live, and they do so at great length. This
verbal diarrhoea is infectious and appears to affect
newspersons and TV anchors who are prone to lecturing
and bullying the guests on their shows. Too many know-alls.
A philosophy for living? You won't find it on your TV sets.
You will learn more from a cab driver or street vendor.

SubQuestion No : 14
Q.14 The trick adopted by the author to avoid listening to long boring speeches shows that he is very
1. disrespectful
2. arrogant

3. mischievous
4. clever

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2




Comprehension:

Read the following passage and answer the questions that follow
by choosing the correct/most appropriate options:

1. Each one of us is a mass of imperfections, and to be able to
recognize and live with our imperfections, our basic natures,
defects of genes and birth-hereditary flaws-makes for an
easier transit on life’s journey.

2. | am always a little wary of saints and godmen, preachers
and teachers, who are ready with solutions for all our
problems. For one thing, they talk too much. When | was at
school, | mastered the art of sleeping (without appearing to
sleep) through a long speech or lecture by the principal or
visiting dignitary, and | must confess to doing the same thing
today. The trick is to sleep with your eyes half closed; this
gives the impression of concentrating very hard on what is
being said, even though you might well be roaming happily
in dreamland.

3. In our imperfect world there is far too much talk and not
enough thought. The TV channels are awash with TV gurus
telling us how to live, and they do so at great length. This
verbal diarrhoea is infectious and appears to affect
newspersons and TV anchors who are prone to lecturing
and bullying the guests on their shows. Too many know-alls.
A philosophy for living? You won't find it on your TV sets.
You will learn more from a cab driver or street vendor.

SubQuestion No : 15
Q.15 Which of the following words is most opposite in meaning to the word, ‘happily’ as used in para 2 of the
passage?

1. angrily
2. gingerly
3. sadly

4. sparingly

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.16  Which of the following is the LEAST relevant objective for introducing children to poetry?

1. To improve students' ability to memaorize and recall.

2. To expose students to different forms of writing.

3. To build intonation skills in children through an easier format.

4. To improve comfort with words and spellings through rhyme and repetition.

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2




Q.17 An English class was run with the objective: Students will be able to use appropriate punctuation marks.
Which of the following assessments is BEST aligned with the objective?

1. Ask students to punctuate the following:
ramesh loves eating ice-creams he also enjoys pizza pasta and other such items
2. Ask students to identify punctuation marks in the following:
Radha reached school late. She ran up the stairs, reached her classroom and asked, "May | come in?"
3. Pair students and ask them to act out the following with the right tone:
"May | go to watch the movie?"
"No! You may not! Finish your homework, eat your dinner and go to sleep.”
4. Ask students to list the rules in using full-stop, comma and question-mark.

Options 1.
2.
3.
4.

A WO DN =

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.18 \What is the status accorded to the English language in the Indian Constitution?

1. Foreign language
2. Official language
3. Associate official language
4. Indian language
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.19 A teacher uses an online program where words are first read slowly highlighting each sound, then a little
faster and then at normal speed. For which of the following can this tool be BEST used?

1. Comprehension
2. Blending

3. Vocabulary

4. Prosody

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1




Q.20 Which of the following pedagogical methods follows a 'contextualised approach' towards teaching the ‘tense
forms'?

1. Explaining different types of tense forms with single-sentence examples.

2. Encouraging students to apply the concept of tense forms in their first language.

3. Making students practise each rule about tense forms through a worksheet focused on the rule.
4. Using a scripted dialogue to teach in which different tense forms are used.

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.21 Which of the following classroom situations is NOT conducive for language acquisition in grade 3, based on
Krashen's hypothesis?

1. Students can choose the topics for writing exercises on their own.

2. Children are not scolded for committing errors while speaking English.
3. Peer discussions happen frequently on various general topics.

4. Teacher using Shakespeare's play for a read aloud lesson in the class.

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.22 The red ball quickly fell onto the floor, which was already wet, and rolled away.
When asked to underline the adverbs in the given sentence, Class V student Kiran underlined the word

'quickly' and 'away'.
Which of the below MISCONCEPTIONS does Kiran likely have?

1. Adverbs modify only verbs and not adjectives.

2. Adverbs always end with 'ly".

3. Adverbs need to appear after the verb.

4. None - Kiran has identified the adverbs correctly.

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Q.23 Which of the following would be the MOST effective tool to teach vocabulary and spellings to grade IlI
children who are learning English as their second language?

1. Podcasts

2. Writing Templates
3. Picture Dictionary
4. Bilingual texts

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.24 Which of the following principles does National Curriculum Framework (NCF) 2005 expect a teacher to keep
in mind, while teaching in a multilingual classroom?

1. Children's English proficiency greatly improves through exposure.
2. Linguistic diversity in a class constrains English language teaching.
3. Children learn better through drills and rigorous practice.

4. Language is constitutive of a child's cultural and social identity.

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.25 Ms. Vijayalakshmi asks her Grade 5 students to write an essay on 'Myself'.
Post the assignment, which of the following questions would MOST help use this exercise for "assessment

as learning"?

1. How are you and your best friend different from each other? - compare your essays and find out.
2. Using the given list of points, check what all you have included, and include the rest.

3. What is your most favourite activity?
4. How did you decide which things about yourself to include in the essay?

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option: 1




Q.26 Ateacher introduced a game called 'Spot the Word' in a Standard Il classroom. Students were given a page
long story and they had to rapidly circle the words uttered by the teacher.
Which of the following language skills can this help develop?

1. Proof reading

2. Scanning

3. Inferring

4. Intensive reading

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.27 According to the approach of 'Total Physical Response’, a teacher should

1. Often conduct games and physical activities related to the topic.

2. Facilitate discussions and dialogue among the students in English.

3. Teach vocabulary by connecting words with appropriate actions.

4. Help students accomplish real world tasks using their English abilities.
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.28 Which of the following ideas is in contradiction to the theory proposed by the linguist Noam Chomsky?

1. Humans have an innate capacity to acquire languages.

2. Children learn languages through imitation and reinforcement.

3. There is a critical period for language learning to happen.

4. All the languages share certain common structures and features.

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option: 1

Q.29 Adclass of grade IV students is learning English as second language. A diagnostic shows that most of them
can read only grade Il level text. Which of the following classroom routines will enable the maximum number
of students to participate and catch up?

1. Idiom of the Day - Teacher presents an idiom related to the lesson daily.

2. Weekend read - Students share about the novel or the book that they read.

3. Daily Talk - Students talk about some activity of the previous day, for a minute everyday.
4. Journal writing - Students free write for about 5 minutes before starting the class.

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3




Q.30 Ms.Renu in her class V tells a story in English and asks her students to tell the story in their language. She
then asks them to tell the story in group of five by taking turns. What strategy does she follow in her class

room?

1. Multi lingualism
2. Bilingualism

3. Translanguaging
4. Group work

|Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option: 1
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